Приложение №3
The Modern Periodic Table
The periodic table of today is similar to Mendeleev’s but has many more elements – those that have been discovered since 1869. Today’s table consists of seven horizontal rows called periods and a number of vertical columns called groups (or families).

        The groups are numbered with Roman numerals. All the elements in each group have the same number of electrons in their outermost shells, so they all behave similarly. For example, the Group IA elements react violently when they come into contact with water. And all elements in Group IA have one electron in their outermost shell.  

         Some of the groups in the periodic table are labeled with a Roman numeral followed by A, others with a Roman numeral followed by B. The A groups are called the representative elements. The B groups are called the transition metals. You can also see that as we move from the top to the bottom of the periodic table (in other words, from period 1 to period 7), the periods get larger – the have more elements in them. In fact, periods 6 and 7 are so large that to fit the table one page, we have to write part of each period below the rest of the table (the 15 lantanides and the 15 actinides).
